Circular Measure.
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where �EMBED Equation.3��� is in radian.





�Exercises :


In the diagram, ABCD is a square of side 10cm. Given that HK is an arc of a circle centre A and radius AK, where �EMBED Equation.3���cm, calculate


�EMBED Equation.3��� in radians,


the area of the shaded ragion HCK.





�In the diagram, O is the centre of a circle of radius 8 cm and �EMBED Equation.3��� is an isosceles triangle. If �EMBED Equation.3��� radians and �EMBED Equation.3���cm, calculate


the value of �EMBED Equation.3���,


the area of minor segment QSR.


�


The figure shows a quadrant of a circle centre O and radius 15cm. Q is a point on the arc such that arc PQ : arc QR = 4:3. If �EMBED Equation.3��� radians, calculate


the value of �EMBED Equation.3���.


the area of the shaded region .





�In the diagram, each circle has the same radius and is tangent to other two circles. If the area of the shaded region is �EMBED Equation.3���cm2, find the radius of the circle.





Answers:


0.284, 2.83 cm2.


0.453, 3.802 cm2.


�EMBED Equation.3���, 163.69 cm2.


3 cm.


�PAGE  �1�











 A





 B





 C





 D





 K





 H





 P





 Q





R





 S





 O





�EMBED Equation.3���





O





P





Q





R





�EMBED Equation.3���











